@ g % %3 é::? fyra decimaler, ordningsfoljd

namn: Datum: Poéng:
5,2-4,2-6,3x6,1= 4,9-5,2x4,3-3,1=

6,5+ 10x2,2+2= 3,3-2,9-3,6x2,9=
9%x6,9+3+2, 1= 6,6 —5,9+5x3,2=
5,9-20x2,7+5= 6,4—-5,9+2,8x4,7=
5,9+3,4-4,3x6,2= 51 +3-6,8%x6,5=
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@ g % %3 é::? fyra decimaler, ordningsfoljd

namn: Datum: Poéng:
5,2—-4,2-6,3x6,1=-3743 4,9-5,2x4,3-3,1=-20.56

6,5+ 10x2,2+2=175 3,3-2,9-3,6x2,9=-10.04
9%x6,9+3+2,1=228 6,6 —-5,9+5%x3,2=16.7
5,9-20x2,7+5=-49 6,4—5,9+2,8x4,7=13.66
5,9+3,4—4,3x6,2=-17.36 51+3-6,8%6,5=-36.1
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